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P - I (1+1+1) G / 20 (N)

2020

PHYSICAL EDUCATION (General)
Paper Code : II - A & B

[New Syllabus]

Important Instructions
for Multiple Choice Question (MCQ)

 Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.
Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

Subject Code : III A & B

Subject Name :

 Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is ‘CORRECT’ answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.
Example — If alternative A of 1 is correct, then write :

1. — A
 There is no negative marking for wrong answer.
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Paper Code : II - A
Full Marks : 15 Time : Thirty Minutes

Choose the correct answer.

Each question carries 1 mark.

1. In the trained athlete, the minute volume of the heart —

(A) Decreases

(B) Remains some

(C) Increases

(D) None of the above

1Ð ~„þ‹˜ ²Ì!Ÿ!Çþ“þ e«#vþüy!îöì”îû £*ê!þ™öìuþîû !›!˜Ýþ ¦þ!œvþz› éôôôé

(A) £Éy¢ þ™yëû

(B) !„þŠ%é xîöìŸ¡ì íyöì„þ

(C) î,!kþ þ™yëû

(D) vþzþ™öìîûîû ö„þyöì̃ y!Ýþ£z ˜ëû

2. How much oxygen is there in the human body?

(A) 65%

(B) 50%

(C) 67%

(D) 70%

2Ð ›y˜îöì”öì£ „þ“þ þ™!îû›yöì’ x!:öì‹˜ O2 íyöì„þÚ

(A) 65 Ÿ“þy‚Ÿ

(B) 50 Ÿ“þy‚Ÿ

(C) 67 Ÿ“þy‚Ÿ

(D) 70 Ÿ“þy‚Ÿ



Page : 4 of 12

3. Which of the following is an example of connective tissue?

(A) Bone

(B) Cartilage

(C) Blood

(D) All of the above

3Ð ˜#öì‰þîû ö„þy ä̃!Ýþ öëy†„þœyîû ~„þ!Ýþ vþz”y£îû’Ú

(A) x!ßþi

(B) “þîû&˜y!ßþi

(C) îû_«

(D) vþzþ™öìîûîû ¢î„þ!Ýþ

4. How much is the average pH value of blood?

(A) 6.5

(B) 7.4

(C) 8.5

(D) 9.0

4Ð îûöì_«îû †vþü pH ~îû ›y˜ „þ“þÚ

(A) 6.5

(B) 7.4

(C) 8.5

(D) 9.0
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5. What is known as heart pacemaker?

(A) Skull

(B) A.V. Node

(C) S.A. Node

(D) Both A.V. Node and S.A. Node

5Ð £*ê!þ™öìuþîû öþ™¢öì›„þyîû !£¢yöìî !„þ þ™!îû!‰þ“þÚ

(A) ›yíyîû …%!œ

(B) ~.!¦þ. ö˜yvþ

(C) ~¢.~. ö˜yvþ

(D) vþz¦þëû ~.!¦þ. ö˜yvþ ç ~¢.~. ö˜yvþ

6. The amount of blood flowing from the heart over a given period of time is
known as —

(A) Stroke volume

(B) Cardiac output

(C) Heart rate

(D) Blood Pressure

6Ð ~„þ!Ýþ !˜!”ÅÜT ¢›ëû„þyœ •öìîû £*ê!þ™uþ öíöì„þ ²Ìîy!£“þ îûöì_«îû þ™!îû›y’ !£¢yöìî þ™!îû!‰þ“þ £ëû
~„þ!Ýþ éôôôé

(A) ößþTÉy„þ ¦þ!œvþz›/‡y“þ þ™!îû›y’

(B) £*êéôévþzêþ™y”

(C) £*”ßþ™¨öì̃ îû £yîû

(D) îû_«‰þyþ™
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7. What happens to the person who is forced to leave immediately after breathing
deeply?

(A) Respiration

(B) Expiration

(C) Inspiration

(D) Vital Capacity

7Ð †¦þ#îû¦þyöìî Ù»y¢ @ùÌ£öì’îû þ™öìîû öë þ™!îû›y’ îyëû%öì„þ îœþ™)îÅ„þ “þÄy† „þîûy £ëû “þyöì„þ !„þ îöìœÚ

(A) Ù»y¢

(B) !˜ƒÙ»y¢

(C) Ù»y¢@ùÌ£’

(D) îyëû% •yîû„þc

8. Explain of Synovial joint is —

(A) Suture

(B) Knee Joint

(C) Inter vertebral disc

(D) Shoulder joint

8Ð ¢y£zöì̃ y!¦þëûyœ ¢!õþîû vþz”y£îû’ £œ éôôôé

(A) ö¢œy£z îy „þöìîûy!Ýþîû ¢!õþ

(B) £¤yÝ%þîû ¢!õþ

(C) £zrÝþyîû¦þy!ÝþîÊy !vþßþñ

(D) „¤þyöì•îû ¢!õþ
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9. In the case of volleyball underarm pass, the following in which muscles is used?

(A) Biceps, Radialis, Ulnaris

(B) Biceps, Radialis, Masetor

(C) Biceps, Ulnaris, Masetor

(D) Radialis, Ulmaris, Masetor

9Ð ¦þ!œîöìœ xyuþyîû xy›Å þ™y¢éôé~îû öÇþöìe ˜#öì‰þîû ö„þy ä̃ öþ™Ÿ#!Ýþ îÄî£*“þ £ëûÚ

(A) îy£zöì¢þ™¢– öîû!vþëûy!œ¢– xyœ˜y!îû¢

(B) îy£zöì¢þ™¢– öîû!vþëûy!œ¢– ›Äyöì¢Ýþîû

(C) îy£zöì¢þ™¢– xyœ˜y!îû¢– ›Äyöì¢Ýþîû

(D) öîû!vþëûy!œ¢– xyœ˜y!îû¢– ›Äyöì¢Ýþîû

10. Pulmonary vein drains blood into —

(A) Right Atrium

(B) Left Atrium

(C) Right Ventricle

(D) Left Ventricle

10Ð þ™yœöì›y˜y!îû !Ÿîûy îû_« ö¢…yöì̃  îû_« !˜†Å›˜ „þöìîû “þy £œ éôôôé

(A) vþy˜ !˜œëû

(B) îy› !˜œëû

(C) vþy˜ x!œ¨

(D) îy› x!œ¨
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11. The movement of balls and sockets is done?

(A) Pronation

(B) Eversion

(C) Rotation and Circumduction

(D) Plantar Flexon

11Ð îœ ç ¢öì„þÝþ ¢!õþîû ¢Mþéyœ˜ £œ éôôôé

(A) ²Ìöì˜Ÿ˜

(B) £z¦þyîûŸ˜

(C) öîûyöìÝþŸ˜ ç ¢yîû„þy›vþy„þŸ˜

(D) ²ÕyrÝþyîû öšÏþ:˜

12. What does the side bark of the thoracic and lumbar region of the spine say?

(A) Scoliosis

(B) Lordosis

(C) Kyphosis

(D) All of the above

12Ð ö›îû&”öì[þîû öíyîûy!¢„þ ç œyÁºyîû xMþéöìœîû þ™yÙ»Å îe«“þyöì„þ „þ# îöìœÚ

(A) ößþñy!œç!¢¢

(B) œîûöìvþy!¢¢

(C) „þy£zöìšþy!¢¢

(D) ¢î„þ!Ýþ£z
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13. What is the main source of energy production under the following?

(A) ATP

(B) ADP

(C) Protein

(D) Phospho Creatine

13Ð ˜#öì‰þîû ö„þy ä̃!Ýþ Ÿîû#öìîûîû ›%…Ä Ÿ!_«”yëû„þ vþzþ™y”y˜Ú

(A) ATP

(B) ADP

(C) ö²Ìy!Ýþ˜

(D) šþ¢öìšþy!e«öìëû!Ýþ˜

14. In 100 ml blood of male and female how much amount of Hemoglobin is —

(A) 14 gm.

(B) 14.5 gm.

(C) 16 gm.

(D) 20 gm.

14Ð ˜yîû# ç þ™%îû&öì¡ìîû ²Ì!“þ 100 !›!œ!›Ýþyîû îûöì_« „þ“þ !£öì›yöì@Õy!î˜ íyöì„þÚ

(A) 14 @ùÌy›

(B) 14.5 @ùÌy›

(C) 16 @ùÌy›

(D) 20 @ùÌy›
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15. Which muscle is an important part for long jump?

(A) Trapizium

(B) Laticimus Dorsi

(C) Deltoid

(D) Quardraceps

15Ð ”#‡Å œÁ³þöì̃ îû ‹˜Ä ö„þy ä̃ öþ™Ÿ#!Ýþ …%î£z =îû&cþ™)’ÅÚ

(A) ÝþÆÄy!þ™!‹ëûy›

(B) œÄy!Ýþ!¢›y¢ vþîû!¢

(C) övþœÝþöìëûvþ

(D) ö„þyëûyvÈþöì¢þ™¢ä

———————
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P - I (1+1+1) G / 20 (N)

2020

PHYSICAL EDUCATION (General)
Paper Code : II - B

[New Syllabus]

Full Marks : 35 Time : One Hour Thirty Minutes

The figures in the margin indicate full marks.

Group - A

Answer any two questions.

1. What is Nervous System? Discuss the function of Nervous System. Write the
function of Ceribrum with diagram. 2+3+5=10

2. What is Nucleus? Describe the structure of a Nucleus of Eukaryotic cell with
diagram. Discuss the cause and correction of Kyphosis. 2+4+4=10

3. What is Muscular System? What are the different types of Muscle. Discuss
the different types of Muscular contraction. 2+2+6=10

Group - B

Answer any three questions.

4. Write the effect of exercise on Respiratory system. 5

5. State the main function of each kind of tissue. 5

6. Discuss the Bio-chemical changes in Muscle. 5

7. Blood circulatory system and its function. 5

8. Isometric and isotonic contraction. 5
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îDy %̃îy”
!î¦þy† éôé „þ

öë ö„þyöì̃ y ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yçÐ

1Ð ßþ¬yëû%“þsþf „þyöì„þ îöìœÚ ßþ¬yëû%“þöìsþfîû „þy‹=!œ ¢Áºöìõþ î’Å̃ y „þîûÐ ö¢!îûîÊyöì›îû †àþ˜ ç „þyëÅ„þy!îû“þy
!‰þe¢£ î’Å̃ y „þîûÐ 2+3+5=10

2Ð !˜vþz!„Ïþëûy¢ „þ#Ú ~„þ!Ýþ xy”ŸÅ ö„þyöì¡ìîû !‰þe xBþ˜ „þöìîû !˜vþz!„Ïþëûyöì¢îû !î!¦þ§¬ x‚Ÿ=!œ ö”…yç
~î‚ î’Å̃ y „þîûÐ „þy£zöìšþy!¢öì¢îû „þyîû’ ç ²Ì!“þ„þyîû ¢Á™öì„Åþ xyöìœy‰þ˜y „þîûÐ 2+4+4=10

3Ð öþ™Ÿ# “þsþf !„þÚ öþ™Ÿ#îû ²Ì„þyîûöì¦þ” öœ…Ð !î!¦þ§¬ ²Ì„þyîû öþ™Ÿ# ¢‚öì„þy‰þ˜ ²Ì!e«ëûy xyöìœy‰þ˜y
„þîûÐ 2+2+6=10

!î¦þy† éôé …

öë ö„þyöì̃ y !“þ˜!Ýþ ²ÌöìÙÀîû vþz_îû ”yçÐ

4Ð Ù»¢˜“þöìsþfîû vþzþ™îû îÄyëûyöì›îû ²Ì¦þyî=!œ vþzöìÍÔ… „þîûÐ 5

5Ð ›y˜îöì”öì£îû „þœyîû ²Ì•y˜ „þy‹=!œ vþzöìÍÔ… „þîûÐ 5

6Ð îÄyëûyöì›îû ¢›ëû öþ™Ÿ#öì“þ ÷‹î îûy¢yëû!˜„þ þ™!îûî“Åþ˜=!œ îÄy…Äy „þîûÐ 5

7Ð îû_« ¢‚î£˜“þsþf ç “þyîû „þyëÅyî!œÐ 5

8Ð ¢›÷ì”‡ÅÄ ~î‚ ¢›Ýþy˜ öþ™Ÿ# ¢‚öì„þy‰þ˜Ð 5


